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RERTPIRIE DS B (40FD)

R | WERL> | BERE | HEee |
I fﬂ?}ﬁ >PSI N/M >17 >Kgf/ S EE >mm
(Kgf/cm2) (Kgf/cm) | (Kg.cm) | 8. 10CM
- 213 5880 8. 5
(15) (6. 0) (85)
199 5390 7.5
K=A
e (14) (5. 5) (75)
> 185 4900 7.0
K=B
(13) (5. 0) (70)
e s 171 4410 6. 5
(12) (4.5) (65)
Al 142 3920 6. 0
A=B
| (10) (4. 0) (60) ; 1042 6.0
1 i 114 3430 5.5
(8) (3. 5) (55)
5| aa 100 2940 5.0
7 (3. 0) (50)
79 2450 4.5
5] e 5. 5) (2. 5) (45)
b 71 2250 4.5
(5) (2.5) (45)
e 71 1960 40
(5) (2.0 (4. 0)
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SRR 2 A (40F2)

R MR > | BERL | RARe |
SfF | >PSI N/M >7 >Kgf/ hﬂ” B > mm
(Kgf/cm2) (Kgf/em) | (Kg.cm) | #8. 10CM >
. 299 9800 11. 0
Q1) (10. 0) (110)
- 284 8820 10. 0
e (20) (9. 0) (100)
> - 270 7840 9. 0
(19) (8. 0) (90)
i 313 228 7840 9. 0
_ (16) (8. 0) (90)
| g 228 6860 8. 0
(15) (7. 0) (80)
, 5 10£2 6.0

3 A3B3B 185 5880 7.0
(13) (6. 0) (70)
5 i, 171 4900 6.0
(12) (5. 0) (60)
156 4410 5.0
P51 v (11) (4. 5) (50)
v 128 3920 4.5
9) (4. 0) (45)
B} 100 2940 4.0
(7) (3. 5) (40)
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FEECL RS> | R | RERE |
:r?}flg] *—fbf‘ﬁ >PSI N/M >] >Kgf/ S EE > mm
(Kgf/cm2) (Kgf/ecm) | (Kg.cm) | #%.10CM
- 185 4100 5.5
(14) 4. 2) (55)
a1 185 3520 5.0
2 (13) (3. 6) (5. 5)
156 3130 4. 0
A3A
(11) (3.2) (40)
e . 114 2340 3.5
(8) (2. 4) (35)
Al - 85 1850 3.0
| (6) (1. 9) (30) . L0 4 0
B 71 1450 2.5
(5) (1.5) (25)
<t 56 1260 2.0
| B 4) (1. 3) (20)
114 343( 4.5
| e ®) 3.5 | @)
. 100 2940 3.5
(7) (3.0) (35)
. 85 2450 2.5
(6) (2.5) (25)
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mRg e | me g |
R | >PSI N/M >J >Kgt/ >';J B > am
(Kgf/em2) | (Kgf/em) | (Kg.cm) | £ 10CM -
B 227.5 8820 12
K=K
(16) (90) (120)
B 213 7840 110
k=4 (15) 8. 0) 11)
g .
= = 199 6860 100
- (14) (7. 0) (10)
fi L= 192 6860 9. 0
- (13.5) (7. 0) (90)
ol B 184. 5 5880 8. 0
A=B 13) 6. 0) (80)
) : 5 1042 8. 4
o L= 170. 5 4900 7.0
- (12) (5. 0) (70)
S I 170. 5 3920 7.0
(12) (4. 0) (70)
B 142 2940 5.5
W B=C
(10) (3. 0) (55)
B 184. 5 5880 9. 0
W=K
(13 (6. 0) (90)
B 170. 5 4900 7.5
W=A
(12) (5. 0) (75)
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